R 20-)
"Fﬂm C‘M«M(a

M (2= Xy + a1 -
X= ¥o- w\m (-x )+ “qu (1)
y< ot ——

C—lb)CQ £‘_¢w\_
F (95,4 M ih gyt d) = O
Fstﬂ,s)cQ. x4y eF(‘M«,d) = 0

\
CD%L\_"‘)/Q)g 226“/2’/*‘(“’&”9



20-2

/o S, ¢ pawdied twm'(wt‘ww
té ravawew approy salutun

- S O

(140) X, = X=T TR

(ﬂ.}- (;z By, 25T 6 Cysey

8| ‘ S') LF} BF} F‘F,-(.Qo),s,J....) _

(3] _ I
-—

Correchon

(ﬁ\\!n5 -2 ey NG







v 2y + Qe T
CE/LEH <.[® 00:1;6;
. !-s--.-}

O3
assame awm WWMQ((/ dc.;/w%hﬂ
-
$00 = sz)%.r e‘l’( R 2, Q‘/‘“ﬂ
MVN
hi dimeusen 0& A







